How Many Significant Digits for Each Number?

1) 9060 = 11) 78 =
-3
2) 0.0669 = 12) 6 x 10 =
5
3) 6 x 10 = 13) 99.327 =
-1
4) 0.0010 = 14) 1.90 x 10 =
5) 1723 = 15)  0.0900 =

2
6) 5.872 x 10 16) 0.0030 =

7) 0.0011 = 17) 9000 =

3 4
8) 55 x 10 18) 2.277 x 10

9) 0.000400 = 19) 4000 =

1
10) 727 = 20) 5.50 x 10 =



How Many Significant Digits for Each Number?

1) 9060 = 3 11) 78 =
-3
2) 0.0669 = 3 12) 6 x 10 =
5
3) 6 x 10 = 1 13) 99.327 =
-1
4) 0.0010 = 2 14) 1.90 x 10 =
5) 1723 = 4 15)  0.0900 =

6) 5.872 x 10° = 4 16) 0.0030 =
7) 0.0011 = 2 17) 9000 =
8) 55 x 10° = 2 18) 2.277 x 10 =
9) 0.000400 = 3 19) 4000 =

1
10) 727 = 3 20) 5.50 x 10 =






